Math 102 – Quiz #7 (Sections 2.6, 3.1, 3.2) 
Name ______________________________
Show your work to receive credit!
1.
Form a three column table for the linear inequality 
[image: image1.wmf]2523

xx

+<-

 using the values –4, –2, 0, 2, and 4 as inputs.  
	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



Which of these numbers are solutions to the linear inequality 
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? ________________

2.
Solve the following linear inequalities and graph their solutions.


a.
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b.

[image: image4.wmf]24(5)

xx

>+


3.
Find the next three numbers in each sequence.  If the sequence is arithmetic, find the formula.


a.
14, 11, 8, 5, _____, _____, _____
b.
48, 24, 12, _____, _____, _____ 

4.
Circle each ordered pair that is a solution to the equation 
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(5, 0) 
(0, 4)
(10, 0)
(–5, –2)
(20, 4)
5.
a.
Complete the ordered pairs to create solutions to the equation 
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(5, _____ ) 

(–4, _____)

(_____, 5)

6.
Find the x and y intercepts for the linear equation 
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x intercept ____________

y intercept____________
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